1naw 7"7 '01N 2,20 7Y L7023

His unemployment and healing go to his master — 121% X1z N2W

OVERVIEW

1 " ruled; if one chops off the hand of his friend’s slave, he is liable to pay the
master 1N2¥ and VX197 and the slave is supported from 7p7%. The X131 derives from
this ruling that the master can tell the slave 717 *1°R1 "ny wy. Our MdOIN discusses
the other obligations of 7¥X ,211 and nw12 which a 2°1 normally has to pay.

- 191 13904 1YY NIVH NAVY 19N INAY
The word 2w includes both the minor naw (which is his temporary

unemployment)” and major naw which is the damage that was done to the 72v.
= 9399 YY) Y PN NI

And the same rule applies to "vx (pain) and nw12 (shame); they also belong to

his master. mooin qualifies that nw1a belongs 1212, only -
= NIYIA TaYD YT (3,30 97 x0p xa3) DAINNA 9ANRT NN 2297 aY

According to the 3339 who argue with 3""9 and maintain that there is a nena
payment for shaming an 7ay. According to >" there is no n12 payment at all.

mooIn explains why *"7 does not mention WX (and Nw13):
=1399 10V VTN PRT 0IVN 1N VPI XD

And "1 did not mention N2 7YX because there is no novelty that they belong

to his master -
- MMM 2N XY T NAY 290 DPPYT 2) Yy GNT 1Y yHYN NP Inava Yan

However concerning naw (even though there is no w17°n that it belongs 127°), *"
is teaching us that even though the master takes the naw of the 71y,

nevertheless, the master is not obligated to feed the 72y -
- 2751 50N MY AYY Tayy MY 290 9151

Because the master can say to the slave 917 SR "ny Wy,

mooIn anticipates the following difficulty:

! p11 is included in naw because the T2y cannot continue to do the same work [permanently] as he did previously
because of this pr1. See nXwM 7"7 "W that it was not necessary for *"7 to mention P11 (and 7Y¥) because it is
obvious that it belongs to the master (see "W 0"7n).

% See 1M1 "7 ",

3 The w17n that the master takes the payment and need not feed the 72v is applicable only to (79173 A3up) Naw, since
the 72y cannot work to feed himself and the owner is taking his benefit away from him. It has no bearing however
for nw121 ¥ (and X1 [see (however) n"mi]) which has no connection to his ability to work and support himself.
See ‘Thinking it over’ # 2.
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- RVOVO INAY TINDA 75997 XM
And that which the X723 shortly asks; ‘it is obvious that 1naw belongs 1275 !*

mooIn responds:
= 1P NOY 29 DY 9N 129D 1NAWT RVIVD NYIYID 9N

This is the explanation of the question; it is obvious that 1n2w belongs 121 even

if the master will not feed the 72y -
=999 "y NYY Ta¥Y 999 290 1  12¢~)

Since the master can tell the slave "2y 7w, etc. so therefore -
= 99530 DY 172y 15 $OIP VPINIY 1IN 229D NYY MN XY

>'"1 should not have mentioned the case of chopping off the hand of his friend’s

slave -
- s‘mN 9349 9939YNY X2 XY ON D9 T2y 91919 290 9199 NN 9999 %Y 1IN NIN

But rather > should have stated explicitly that 7ap% 221 3977 129, etc., unless

he wants to teach us an additional concept (besides 121 "y 7wy 72v% 92 297 9) -
= Y YITIN 1IPNUNY 17aY 1> YOIP VPIT 2IUM

To which the X773 responds that he mentioned 72y 75 yuIp to let us know a

second @757 (besides 121 72v7 M1 277 712°), which is -
= NN NNDT 9P 139977 1299 INNIDIY

That his healing profit also belongs to his master, which is the pain of the

sharp medicine -
= 1I8YY NINY INNIDI 199 MINYY NAY NN MNYT PrONnTd

As the X3 concludes, that I would have thought that the profit of X971 Xno

should belong to the slave, just as the healing goes to the slave,’ similarly
= 1MINYY NI INNIDI 99V NMNINY 7D Y8 D12DWH D)

When he suffers pain to gain the profit of his healing’ it should also belong to

the slave. The w17°n of "1 is that the master receives this profit as well.
$PNNY 13539 . NWHIAY 19 20 XY 99N1DY 12957 RVIVW o0 NV Y8 DaN

However the pain the slave endured by the chopping of his hand, that obviously
belongs to the master and therefore °"7 did not teach it and similarly with
nena. The above is the view of the ',

* What is the question?! n901n just explained that the w7 of 12w is (not that it is 1217, but rather that even though
1277 1n2w, nevertheless) that the master can say a1 X1 "y 7wy,

> The only w17 of 1277 102w is that nonetheless the master is not obligated to feed him, since 121 9217 2771 912, So
»"q should have just taught us that 1312777 912> and I would know that 1277 12w even if he does not feed him.

% The master must heal the slave with the 7x127 money paid to him by the yu1p.

7 The 72y accepted a more painful healing procedure which reduced the cost of his »9™. The difference in price
between a regular treatment and the lower cost of the painful treatment is what we are discussing.

2
TosfosInEnglish.com



1naw 7"7 '01N 2,20 7Y L7023

SUMMARY

7vX and N2 obviously belong to the master. 211 and n2w also belong to the master
however the v17°17 is that the master need not feed him. The reason for mentioning
172V 7° YUIP is that the master retains the 70w of X9°717 X107 RVX.

THINKING IT OVER

The X3 asks that 102w is Xv’wd, so why mention it. The X723 answered MR
2 XK. If the reason he mentions 12w is [only] because of X197, why did he
not mention (instead) 1¥ and say that 7% X3°0%°X 1RO, just as we say regarding
Naw?!

2. Why did not the X723 prove that 121 2977 912°, from the fact that >"1 mentioned
1275 102w and not 1121 17w ?® This indicates that there is a w170 by 102w that 12°
"51 2777; however there is no such w171 by’ w2 1we!'”

® This is (seemingly) a stronger proof that how the x7»3 infers it (that it should say 0150 instead of 111).
? See footnote # 3.
' See (Trx) K"wR.
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